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niz27= F = 5

wizs - ContourPlot[Log[Sum[ (1-f[[i]])?, {i, 1, 4}]]s 1% -2, 2}, {y, -2, 2}, Contours - 15]

out[128]=
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In[129] = Sum[(l—f[[i]])z, {i, 1, 4}] [[1]]

oupzgs (1-10X-y) 2+ (1-x-y)2+ (1-2x+y)2+ (1-x+y)2

oo2- Sum{ (1-€[[111)?, {i, 1, 4}] [[1]] // Expand

ouiszl= 4 - 28 X + 1O6X2+16xy+4y2

epos= Minimize[Sum[ (1- F[[i11)%, {1, 1, 4}], (X, y}]
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nii12)= ContourPlot[Log[Sum[Max[@, (1-f[[i1]1)], {i, 1, 4}] +1],
{x, -2, 2}, {y, -2, 2}, Contours -» 15, PlotPoints -» 25]
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o= Sum[Max[@, (1-F[[i11)]1, {i, 1, 4}]
ouiog= Max[@, 1-10x-y] +Max[0, 1 -x-y] +Max[0, 1 -2x+y] +Max[0, 1-x+Yy]

miio)= Minimize[Sum[Max[@, (1-F[[1]1])1, {i, 1, 4}1, {X, Yy}]
ougrio= {@, {X->1,y->0}}
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In[122] = ContourPlot[; sum[ (1-sSign[f[[i]1]1]), {1, 1, 4}]1, {x, -2, 2}, {y, -2, 2},

Contours -» {0, 1, 2, 3, 4}, PlotPoints - 50, PlotLegends - Automatic]
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In{124] = ;Sum[(l—sign[f[[i]]]), {i, 1, 4}1[[1]]
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ouizg= — (4-Sign[x-y] -Sign[2x-y] - Sign[x+y] -Sign[10x+y])
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